Clearview Regional High School District
2021 Summer Assignment Coversheet

Course: Honors Algebra 1
Teacher(s): Miller, Wescott, Gunning, Paoletti
Due Date:

OPTIONAL (answers will be posted in late August)

Purpose of Assignment:

To assess the students understanding of concepts necessary for
Honors Algebra 1.

Description of Assignment:

Students will solve problems involving fractions, integers,
expressions, equations, inequalities and graphs. All problems
are to be solved without the use of a calculator.

New Jersey Student The Number System
Learning Standards MA.7.7.NS.A.1, MA.7.7.NS.A.2, MA.7.7.NS.A.3
covered:

Expressions and Equations
MA.7.7.EE.A.1, MA.7.7.EE.A.2, MA.7.7.EE.A.3, MA.7.7.EE.A.4

Ratios and Proportional Relationships
MA.7.7.RP.A.2, MA.7.7.RP.A.3

Use of Assignment:

This packet contains skills that students should have mastered
prior to entering Honors Algebra I. Students can use this packet
to gauge their understanding and readiness for the course.

Specific Expectations:

Students are to try every problem. Students should also come to
class with questions on any problems they did not understand.

Where to Locate

Clearview Website

Assignment:

Teacher Contact Mrs. Jill Miller Mrs. Karisa Wescott

Information: jmiller@clearviewregional.edu kwescottie clearviewregional .cdu
Mrs. Anne Paoletti Mrs. Tara Gunning
apaoletti@clearviewregional.edu tgunning@clearviewregional.edu

Additional Help/ Learnzillion.com, mathisfun.com, khanacademy.org,

Resource(s): analyzemath.com, freemathhelp.com, analyzemath.com
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Operations with Rational Numbers

Add, Subtract, Multiply or Divide.

1] —-12+4=\_-¢

2] =15+ (-N=|-22

.3] —23-56 =(’iﬂ

4] 17—43=‘—2é)

5] —25_—(—12) =\-13
-25 12

6] 42+ (-13) ={ 29

7] -8(-9) =\'q_ Z.)

-54

81 = = q

9] -18-(-24) = L
—13t+2Y

10] —32-81=|_{13

11] -13-11 =

\—\43]

12] -184-129=
i -3|.3 S

13] —-33.58 +23 =

14] -83(~13.7) =) 03,1 }

15] —Z+3= 16] %-%1'.}
10 | -2 |3
=+~ = 9 b
5 — o -
515 U -
17] - L -3:= - 18] 12~ (-22) =YL}%L2.]
3% 2,93
Sk ;
19] Z{~g)= 20] -13+(-13)= Y
2* \"_‘.f?.. -~ (-2 l £
R T
& S NRVARg
SR 3
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Order of Operations

Evaluate each expression.

1] (-4)+6+(-9-5)=
= -2 + -1}

2] 9+5—64+16+(—42) =
=5 -4 -47

= U —y2

ten

3] -7+4+(@33-12 +6) =

4] 6+ (~18)— 74+ 5% =

e

= ~T+4% + (22 -2) = —12 — 28 +25
= -3+ 25 . Lo
-zl e
5] -72+9+(3%-60) = 6] 182—24—:-4
= —8 + (7-40) -8
: —¢ -5] =l$’—-(p=,2_ _
Ib+4 ~ 20

7] 5(-5-7)+15+(-12) =
= 5(-12) 515 +(-12)
- —(o+Is + (-12)

= i & ofr2 )
A

8] 5(14—42+3)+1z.§
=504 M)+ 3
=5(0) + 3

= 0+ 3
13

9] —-162+ [6(17 —14)*] +3 =
U2 +LL(3H] 53
-6z +[(-91:3
= -It2 + 543

- ~lbz+18 = \ -1t

N

10] 4{10-(27+9)]

G717
fio-21 g7
T e
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Variables and Expressions

Write an algebraic expression for each word phrase.

1] 4lessthanx

2] 5 times the sum of a number b and 4

X~ S(b+4)
3] the sum of 15and m 4] 20 increased by a number h
/5 +m 20+ h
5] one third of a number a 6] the difference of 9 and a number n
é—a, or % 9-N |
7] the quotient of 12 and b 8] 6 increased by the product of 3 and p
—,—é:— 6L+ 3p

Substitution

Use substitution to determine whether the solution is correct.

1] 2x-3=15; x=9 2] 3b+4=-10; b= —4
2(2)-3=15 3(-4) +4 =-10
12-3=15 =“12+4%=-10
15=15  Yes ~gd_jp N
3] 4-2m=8 m= -2 4] 5p4+12=24; p=2
i} -2(-2)= % 5(2)+12=24
Ht4=% 10+12=2%  plp
g=g5 Ves 2142y
5] Sa—12= -27; a= -3 6] 20—4n=32; n= -3
§(-3)-12=-2% 20 -4(-3)=32
15 -12 = 2% \{es 20+12=32
~2F =-27 32=32 >/f35
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Evaluating Expressions

Evaluate each expression when a= 6, b = -3, ¢ = -2, and d=%.
1] a+b-c 2] 3a—2b
by -3-(2) -3(1)-2(-3)
=3-(-2) (8 +6
=342 - [21 1
= 5“[
3] 4c—-3b-9 4] —18d —4a ~
= (—Z)-'B(-B)—q =—~'g(,}g)_t}(é>
I - (-2
-[=F1 - =301
5] s 6] ab—7c-30d
2c ; |
=4{-3)-1(-2) -30( =
:L’(L’)“% . 3612 4 -:('glw—)lo 4)
l(’l oy = T o
=T =~ =10
'.—zﬂ_ _ I"'L}.
7] —4a-2b-3c 8] 2bc-ad

-4 (1) -2{-3) -3(2)
24 HL b

= 1840
- =12l

2 () - (3 )

=2 =7

- [1o]
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Solving Proportions

Solve each proportion below. Show all work.

% 3 S _3
Ha%s | v iar
3% = (3 bi=SXTE
63
63 S57F=3X =9
!X—'—ll 3 3
x_£+_1 _5__ 3
31 551 AN 5= 1
[0X=5X+5 5(2x-1)=£X
—S¥ —5X 10X-5=£X
- = =5 ==X =
S 5 = ::'{_ :Ii_ X % DY‘[
5] 5x=7 6] 7575 =53
= 2 —12 = x+10
—x=12=/0
X=1F | or 02-;— H2 +12
S ~X=22
X==-27
=5 2 x-3 _ 1
L e 8l =3
~5(x-4)=2(x+3) ~FX=t 'ix "Zif}(x
~5x +20 =2Xx+6 L 3 __2
2% —1x X=2 ~IZ=72%
_ -3 3
—-Fx +2=G —
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Distributing and Combining Like Terms

Simplify each expression.
11 12a+3b+7a+8b

=\Ha+11b)

3] 14x+12y—-8-—8x—16y

2] -8n—-4m+6n—3m

-{-2n -7m)

:Yéx—uy—9\

5] 3(5m - 8)

4] —6c—1;d"+12—2c+1;é’—18

1-3c »-Q

[ 15m - 214 ]

6] 4(2a—3)+7a
=8a-12+7a

sa

7] 5(3m+ 4n) +6(m + 2n)
=18m + 20N +Lm + 120

=Elm +52—YT\

8] 3(4a-—2b)+ 4(5a —b)

=12a ~-Lb +204-4b

‘EM - 10!1

9] 6(2x —3y) —3(4x—2y)

=|2¥ —-l?Y —|2x + é)’

10] —2(3c — 4d) — 4(6c + 2d) + 6d

—be +8d —2Y¢ —8d +4d
Faoc +Ld

11] 3GGm+2)—2(4m-—3n)+6

= (Bm+b-8mt+bn tb

=E+m +[oﬂ+“£\

12] 2(4x-3y—-8)—-3(5x -2y +7)

= Bx—Ly-lb-15(+by-2|
\-7x-37]
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Solving Equations

Salve each equation.

1] 4n-8=40
+8 +%
4n = 4§

I [

2) 2a-12=-3
+12 +12

(5)2a=96)

3] -3+7=-10

-7 =7
) ‘%:-n (-+)

4] -im-14=-24

oMy D’
(3) 2= -10 (%) =
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( 3
5] —10c+14=9 . 6] “132-29= —12a+2
M- tH2a ~ +i2a
-I0c= -5 -q-29=2
-0 —10 +2-9 1"27 ‘ —
- [ __a_-_-_gf a—-'sl
== ]
7] 7z+6=12z-19 8] 8m—20= -3m+35
-2z -11% +3m +3m
~720=3
5z té‘“‘:'g s |
~52=-25 @ U_TIL=5.‘.?: E
=5 —5
9] 12n+15=23+8n 10] 5(d—6) = 8d +18
“8n o8N 54-30=83 +13  _3)-ug
Hn +15=23 & & = -3
—h "3d "’30‘:'? ‘ ’
40=8  ——5- 130 +3D |d="1b
4 g [0=2]
11]+—1q8x—14= —24x + 6 12] 2 (6x—18) = —3x+9
24X 24
é;)("l"*'_la ) L}X“\?_="37‘~+q
AN IF’{?,Q " 5%3 +'3:x 2= Zﬂ
bx=20 - H2 4D
b 6 7x=21 %=3
+ F




Solve each equation.

13] 7a~-4-12a=5(2a-1)

14) -4(3m—8) =2(5m+3)

L 20(“\2

-6, _U=10a- ~12m+3L = 10m+L
- - -2Zm +32 =4
1a-4=22 S
-15g==1 a=-L -2m=-25 f ny
=15 IS 15 22 —22
15) 3y+3=8(y+9)- 2y 16] 4B3b+1)= 2(b—3) - 10
N+3= %\,Hz—zy \12b+4 = 2b-L-10
Sy+H3= 6y +TL 12b 4 = zb 12
5y 1332 'wa——u
— - -
1z D lob=-_§,0 h=-2
FI| 7o T
17] 3(2x+5)—15=4x+22-9x 18] 3-6(-3x+1) =4 + 2x-11
Ex+15-15 3 +18%—b
bx= -5x +22 18 —3= 2X=7
+5X 15X ~2x X
nx=22 lex~3=~F
o +3 +3
7 lox=~f | ==L
=2 K=
%=Z] .
19] 14+ 6x — 44 = —3(x — 5) 20] 2(24m —42) = 4(2m - 3)
=-3X +15 20m =35=§m —
+£3,;(( ~30 13X ~&m —8m
=]
Qx-30=15 fam 105 " a8
+30 120 2m=23
AX=45 | e =
q q |[*=S m=13
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Equations, Tables, and Graphs

Complete each table, then graph.

Problem Work 6raph
1l y=2x-3 10
X y 1 7l
-2 -3 "
| — 5 2 /
0 "3 Jol ] 1mJ
1 = "
2 I L
2] = —3x + 2 £0
(S
X Yy &
0 2 ‘
i —
\ \
2 | -y e i
3 | -F N
4 | 10 -
3] “4x+y=1 L \ o
+ix AT y =t v
CHOOSE YOUR OWN VALUES FOR X © ‘ 117
X Y ‘ /
-1 [-3 !
O l = ] ﬂ:l .
\ 5 1
2 q 1T,
Clearview Regional School District ' =10

10



